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PAPER II

What was the dual role of the state in the context of the 'Towards Equality' report's the emergency ?

a) Promoting women's rights while curbing democratic freedoms.

b) Expanding women's education while ignoring political activism

¢) Supporting grassroot movements while silencing protests

d) Encouraging research on women's issues while suppressing dissent.

Choose the correct answer from the options.

FING SIS CHITHR 3Ml&ans WMHmID QBIHEHSL. Blenev & weumler Lererennlulléy o THledr @ Tl 6nL LIMBIE 6TeoTeor ?
(a) QOTHTWS &HSHHTHMS &L HLILOSSID 31CHCaueneT QLevorgerler 2 flennemnl 2omg & eil& LD

(b) SITH WL QFWLLITH&HEMET LIM&&60(15 31 QL6 sevelenwl elliflau® 560

(¢) GUITTITL_LMI&606T GILDETET DTS @G LD CLIMS! 319 0L L §) U185 HI&He06T 35115560

(d) &BMSS CaumLTLenL (&G CH CHISHH 6L G LIS 6 6T FaumaeT GMlES LT TSR enW 2618 @6l & 560

A: a&bonly

S| LDMHMILD &, L (D
B: b&conly

b LODID G LG
C: a&donly

3 LnMHoILD F L HILD
D: c&donly

@ LMmmILD FF L ()LD

Which institution launched a research program on Women's Studies in 1975 ?

6TH & BIMIGIGTLD 1975-60 QILIGTITSH 6T U160 &H6T GMISHS aTTUFR B LSS AN WSELILGSH WS ?

A': University Grants Commission (UGC)
LIV & 606088508 LDM60T W& & (LD
B: Ministry of Social Welfare
FENG H6V I|DFF&HLD
C: Indian Council of Social Science Research (ICSSR)
AW Fens nlalicy ormiigFs &eyeTlev
D: SNDT Women's University

SNDT 0&6flJ LIeV&emevs &Lp&Ln

‘Which of the following best describes the synergy between the women's movement & women's studies ?
LNetraumeausTalmI6) 6751 G LIGTS6T @) WSS SH MG G LITSH6T 9LU16|5EhHGID G 6L GUIWLITET &5 ensaal FMLILITS
alauflasHma 2

A They functioned independently with distinct goals
QILIGTOT G 6T 560118 S161LDTEDT &9 8 B85 TEITE: @15 L 60T &+ UIMS60TIN M Q& WI6ULIL L 6oTy
B: They shared a common goal of addressing women's issues through education & activism

SH6vall LDMHMID QEFWIEVLITL Q6T eLn6euLh QLIGuoTS 6rfl6tT LITE & 60)60T&H6m6 [BlaUTE S C1&F U6 G M & TeT GLIMSI6) TeuT
G &ECSHTM6T S eUTHET LS FHS 618 Te00TL 60T

C: Women's studies rejected the involvement of activists
QUIetoT& 61fl60T 9y, U16]&H6T S Taleu a6 FHILIMLemL BlFTesirl& g et
D: The women's movement opposed the incorporation of academic research.

QUIETIT& 6T @ WSS Hevall QL TMUIER e @ eneTliLIens TR FHS5S

‘What was one of the major criticism of the Nehruvian Development Model in the early 1970s ?
a) Rising unemployment

b) Declining agricultural Input

¢) Corruption & hoarding

d) Excessive focus on women education

Choose the correct answer from the options.

1970-s 66T QSML&H5H 0 CHmeller alemiFs LTH Fluller WS W efnfaeormhigerfley eeTmI 6TeoTeor 2
()21 &5 5 a@mLd CalemevuilaTenin

(b) efpFRWen Wb eleusFml 2 HLISH

(c)26TLP6L LOMHMILD LISIS&H60

(d)Q Lt Hevallulley oIFH& HaleTin




A: a&bonly

a oML b O HILD
B: a&conly

a lDMMILD ¢ L BHID
C: c&donly

cloMmmID d LB
D: b&donly

b LMD d LD (HID

Match the following

List | List 1l
Institutions Contributions
a) SNDTwomen's University (i) Hostedthe first national
conference on women's
studies
b) Centrefor women's (i) Setup tostudywomen's roles
Development Studies (CWDS) and realities through research
& outreach
c) Institute of Social Studies Trust (i) Foundedin 1980 to link
(ISST) research with activism
d) AnveshiResearch Centrefor (iv) Establishedin 1985as a
women's studies research centre focusing on

women'sissues

Choose the correct answer from the options

Clummisis:

() SNDT usv&emevEsLp&0 (i) CluemorssT g,uieyseT
GUISS (6L wrHTLenL
[AF: A3l

(b) wseflf GwbuT(H (i) Clussrast

Sy\I6Y MWD Ylygeenemamener
nWWILNE ClETesTL & (h
QYMUEH) emwome
1985-60 HlmeuliulLg)

(c) &eps spleysst (i)  SwrmiFlenw
SID&SLLENET HIM)6UeTD Gl wsum (HlLeir

Blemesarésss 1980-60
BlimieuiulLg)

(d) wasaflf guie&eTer (iv] SWTmussl wopib 6yl fE
o|erCeuagd) g umigd epsuld Glustsraerflstr
EMLOWILD UGSy &eiT LM mID

WIS T &Sk EEm 6 16

GlFw SienwsslulLS)

A: a-ib-ii,c-iii,d-iv
a-i,b-1ii,c-iii,d-iv
B: b-i,c-ii,a-iv,d-iii
b-i,c-ii,a-iv, d-iii
C: c-i,b-ii,d-iv, a-iii
c-1,b-1ii,d-1iv,a-iii
D: d-i,b-ii,c-iii,a-iv
d-i,b-ii,c-iii,a-iv
‘What was a key aim of research centre like the centre for women's development ?

QUETIT&ET GO LIML (H @bUl16] enloWh GUIMETM QL TTUIESR enloWbIGerler (&S W GBMTE& &N 6TeaTeuT ?

A: To isolate women studies from mainstream academia
QuUetTS 6rfl6dT gyl GHeneT emowl BEITL L sevall gu L migerfledhba &eofleminliLi(h &S5 60
B: To connect research with activism and the realities of women's lives
TTUFRW QF WML G LD G\LI6voT& e 6dT 6uImLDE: 60 & U 60T WS ITT &8 MhISEFL eI &) 60600 LIS
C: To focus exclusively on legislative reforms for women
QLIETIT S @H & & MeT FL_L FI5 5 [(H&H S MG 660 DL HIGLD HeUeaTd QFaIS SIS 60
D : To promote only elite academic research
2 WFH &G Hevell oLrmiiFR e L HIGLD 2618 @65 H60

Which feminist publishing house was an early contributor to women's studies in India ?
@bHWTalley &6 fluch LI LIL| 8@ /QLI6TITE 6T 21,16 & &b, TDLISTeV LIMkIg e LIen L eulpmhiG w QLIesoTeso W LIGILILIGLD 618!
?




A': Manushi
weadl
B: Kali for women
QLI6T0T S @H & & & merf]
C: Sama shakthi
T 565
D: Uberoi
2 QUGHTUI

coined the term Feminology
Q@ LIevoT6uof 1 LIS LLIGV 6T60TM Q& MEVEVITL 6V WITTITEY 2 (HeUM&HSLILIL L &I ?

A Mary Wollstone craft
Gwifl 2 v BLTeT& LI
B: Simon de BeauVior
& LDET H) LI
C: Nynee Koch
e B6or) G&BIT
D: Sally Miller
gmedl eveury

Who paved the way for radical re-invention of research, teaching and learning ?

16| &MHLES56 LnMHMID &HMm6 Wenmaetle FallFll LUMFenealsE allfl aIGSSS W ?

A Florence Howe

ermyesrerv GammGal
B: Bernstein

@ LIT60TENLC 60T
C: Duelli

19 w601

D : Diana Grossman Kahn
L9.60TIT @ T MTerVGLOEDT &5IT60T
‘Who contributed the academic input for the plans of women development at state and central governments levels ?

LOMBleV LDMHMID LSS U S TFTHISEHESE GLIGTTS 6T GLDLITEH QS TLTLTeT HVFTT S8 616086 / LIgG6fLIL Q&Fuleus
wrry ?

A': National Commission for Women
C5A W &6rlF <L, emevoruih
B : Indian Institute of Social Science Research
ABEHW Fengsailulcy oLTTUEFSR Blmiaierid
C: Women's Studies Centres
& 6flflu6y 60D WIS 6T
D : Ministry of Women and Child Development

QLIGDOTSH 6T LDMMILD GLPHeNSG 6T GLLITL (h S 6MIDFF&HLID

Match the following  views  with the
appropriate Feminisms :

List 1 List Il
a. Class as the ultimate |. Post-
determinant of women’'s modern
social status Feminism
b. Gender as a powerful Il.  Marxist
oppressive mechanisms Feminism
c. Sexism lies at the centre of . Socialist
women's oppression Feminism
d. Highlighting the diversity, V. Radical
plurality and multiplicity of Feminism

identity

Choose the correct answer from the options




N6BTEL(IHLD H(HHHISEHENET H(&hE ClLstrenfluig gL et ClUM(hHSSa L.
uliguwisv I uLliguisv II

(a) GQluessrassifleir Feps (i) Yedr-mefeur GluetoTemilwIb
hlemeusmLenIL 6 Fé&GLD

@midlwrdl Sioreaflsasng
(b) &epsl-umedlsrd (i)  wrysEw Clustremflwib

RHS&(E WP MM ESTET
suedlemLoLITenT

suLfl(LemmwIm@Lo

() wmsb #myy hHlemey (i) Gemreebls Clusirenflub
Cluemrssefler @Hl&G
(PEnDE 6T Clund) baisTeng)

(d) weTW&ESSETEND WHMILD (iv)  Seflyu Gustsresnilwn
usvbsumulL
260) LI TETT M & 68) 61T
strerflemeu i (h & &IeuS TG D

&pssemTLensussiiey gflwmer sflenLsnw G IHoS[HlSSH D

A: a-ILb-Tc-1d-TV
a-ii, b.iii, c-i, d-iv
B: a-IV,b-1Lc-II,d-1I
a-iv, b.ii, c-iii, d-i
C: a-IIILb-1V,c-1,d-1
a-iii, b.iv, c-ii, d-i
D: a-ILb-IIc-1V,d-1
a-ii, b.iii, c-iv, d-i
Androcentrism means
a. A male-centric world view
b. To describe the masculine practices predominant in society
c. Promotes integration of masculine and feminine traits

d. Masculine point of view as normative
Choose the correct answer from the options.

91,6007 6MLOWLILIHI S SI6V 6T6dTLISI

3. SLE0OTGHED 6T MWLILIOSH W 2 60&LILIT T 6l

3. FANSHESTH 6V 95 & 6madlev &meuor LIS 6Tm L6tV FTTHS QFWLTH & ell6ns &6l sl
@). @b,600fIWLIEVL| LDMHMILD GLIGTOTEo0T IULIEVL| SFTITIHS LI6T0TL|86M6IT 6260T )] 60)600TES & 6m6V 26m8s &6l ILISI

. QBMWMLILMSSLIL L 36001 W6V L &H6T FMTHS LITFenel

G Lp & & 600 Lemeusserfley Fiflwimen ellemLenw CHIHE & H &S LD

A: a,candbonly
a, c LDMMID b LGB ID
B: a,banddonly
a,b MM d L (KD
C: d,candaonly
d, c LDMHMILD a O (HILD
D: b,canddonly
b, c LOMMILD d L (HILD
Utah state in the western united states became the first state to expressly prohibit same-sex marriages in which year ?

GLMHEHHH W WemeTRIL L 6GLL6060) 2 6iTeT 2 L LIT (Utah) LOMBleVLD 6TTH& 21,600T(h), (LD&EV LOMBI6VLDTE: G LIMedleor
) (HLDEOOTS B M & MeoT FemLenl QaueflLiLHSH W S?

A: 1975
1975
B: 1985
1985
C: 1995
1995
D: 2005
2005

Assertion (A): Feminist theory seeks to analyse the conditions which shapes women's lives.

Reason (R): Feminist theory, is not an abstract intellectual activity derived from women's lives, but seeks to explain the conditions under which these lives are
lived.

In light of above statements choose the correct options given below.

FaMml A: QILIGuOTEo0 W& GSITLLIMTLTEUTS! G)LI1600T6001160T 6UTLDE 60 &H6mUL 611961600 &SR 60TM &L IBl 606V & 6m6T LIGLILMUIGRMSI.
GITFeouTLD (R): @ LI6voTeo0i W G&TLLIM®) 6760 LI M6y & Q&F WeVLITL L9607 & (& & LD 31606V, GILIctor&erfledr aurmped s aserfley
QUMUILLL &I, 9IS Taug @eleurpeluley BlemeusaT 6Th& @ LpBlemeuuiledr oi1q LiLien L ulley Bl&LDRTMSI 6T6iTLIENS ellens: &
WOueSDE. o o

GLOM & 60T L 6u MG WM& 6160 219 LiLiemL_ullev BLp& g etoreummlev Fiflwimer ellemLenwl CHIHOSH & &H6Wn




A: Both (A) and (R) are correct and (R) is the correct explanation of (A)
ALDHMILD R @resor(Ld &Fifl LoHmILD R 6T6eTLISI A &@& Fflwimet elleng: &M@ LD
B: Both (A) and (R) are correct and (R) is not the correct explanation of (A)
A WMo R @ueor@G b &Fifl nMHmID R eTedTLISI A &G SFiflwimer eNlerg&Lne6v6v
C: (A)is correct and (R) is not correct
A &1fl IDHoILD R 6T60TLIS! S6uml
D: (A)is not correct but (R) is correct
A UM SL60TITEV R eTedTLIS &FIf]
According to Ann Oakley, 1772 many transsexuals are unambiguously of one sex, but identify themselves with the following

21,607 685@arT, 1772 e16dT LIeu1 60T SmmmuliLIg LMH M LITedlers S5l [&6T FHCHHS5H MG @)L L06T S Lh& 8 60T 6TH5S 6(H
LIMeOl 6075 & 61 78 @B L_60T 51618606 S|6m L WMeTLILGSH & QS TeTHmTIg6T.

A': Same sex
Gy Lmedleorih
B: Opposite sex
eT&J LimeSleorin
C: Male
24,6007
D: Female

@ LI6voT

Which of the following statements is primarily describes the impact of Belty Friedan's book 'The Feminine Mystique' published in 1963 on American Feminism
?

QW& 8 QLesoTe WD FMiHS 1963-60 Qeueflull_ Ll L "QuLevlg LNiflefler LG s s nmer "QLbleneors Wleuig &"
B LPG:GHE00TL eUMTEHS WkIs6fley 6Ten s (WS aTamlILGSSH efleufl&&Rerms.

A It helped supress the feminist movement
QUIcToTeON W @) WIS HSMS 2 (H&HE 2GR M
B : Itinitiated a resurgence of American feminism by highlighting the dissatisfaction of suburban housewives.

B&TULM e 1960 @@H&ELD G Letrs 6 e 2 »BLIS W TS SIS ST (HeUS6T epevld QL& 8 GLIevoTeuol g5 60T
LDOIDVTFR MW SeUEH 6016155 S

C: It focused on the legal rights of the women ignoring cultural issues
SHMEETT LTEE 60 60T eme LM & 86001531 G Letorgserler &L L 2_flemingemer (LneoTeoflmis Sig 60
D : Scientific analysis of women's psychology aimed to changed attitude towards motherhood.

ST WL LIMHSIULI 6T6U0T600T MBI&H 66T L0MMHMIEISMNETeT CHTHHSCHTH), 6 Lievorserfler 2_arailliamey
gMlallwe,Feunns LGLUmlalgl

Match the following :

Waves of feminism Period
a. First wave l. 1960s — 1980s
b. Secondwave Il. 1990s — present
c. Third wave . Mid 1800s — Early 1900s

Choose the correct answer from the options

Clummsas.
GCluestotemsfl ByemevE6IT BITEVLD
(a) (pzeL Sem6L (i)  1960-1980
(b) @ yewuTLmD HemeL (i)  1990-smGung susny
(c) epeiTmMD S{smey (iii) 1800 wHHUN6L-1900

[AF: (5. 300
GlummsswreaT LHlensus GaTbhblg(H & &a LD

A: a-Lb-ILc-1II
a-i, b-ii, c-iii

B: a-II,b-1,c-1II
a-iii, b-i, c-ii

C: a-II,b-II,c-1
a-ii, b-iii, c-i

D: a-Lb-ILc-1II

a-i, b-iii, c-ii

What was to become the bible of the feminist movement written by the English writer and activist Mary Wollstone Craft (1759-1797) ?




20

21

22

QLHIG6V TGS TETT LDMHMILD QFWEUITLLTeTFmer GLorf]l 2 6T GLMeT&IMLIL LTV eTWSLILL L 6THG LS &80 6LI6voTeot W
@& SS 60T Li6vfl5 BTeLTs: &HSLILL L SI?

A: Emile
eTLdl6d)
B: The Name of the rose
& GELD 9yl & Grmey

C: Eve and the new jerusalem
@6l 90T & Blw, RGEEFEEULD
D : A Vindication of the Rights of women
6T afleuorlq CHF 60T 2Ll & TL_6N 3Ll 2 106t
Which movement was launched by Periyar in Tamil Nadu ?
6THS W& Qulwmyme SALPBHTL Q60 QST BISLLLL &7

A Quit India movement
QeU6Tem6TWCET QaleflGUMm @ UIs&EsID
B: Chipko movement
FICHT UGS
C: Liberation for black women
&L 6T QLevor 6l (5 & 60)6V 5 & TET @) U881
D: Self respect movement

FuwWlwmams @uissid

Liberal feminism also called which of the following :
(B S 6em6v GLIGTIT600T WILD 0TS G LD &5 85 600T L 6TeU M MIET Si6mp& & LILGR MmSI?

A: Cultural feminism
HEUITEFFTT G\LI600T6001 WD
B: Marxist feminism
LOMF&EW G LIeuoTeoof1WLILD
C: Socialistic feminism
GFmHIWed & QLIevorenof|WILD
D: Egalitarian feminism
FL0S S0 Q\LIevorevoll LD
Assertion (A): Women's equality which is possible only through education.

Reason (R):Education as the most important tool for empowerment of women
In light of the above statements, choose the correct answer from the options.

Famml (A) : QLTS AT 6T FlIng Gl &evalulle eelnmsGal FMESH WINMEGLD. &TFevorid (R) : G)LIevoraserflesr
FHEMILLOSSSNEGS S6vel & &S WILDMET &@HedWMEGLD. GLM) & 600TL 61 T8 G WIS 6l 60T 319 LILIen L WIS
GLpgaenorLaumnilev Fiflwimer aflemLenw CHFHASH& &6 LD.

A': Both (A) and (R) are correct and (R) is correct explanation of (A)
A WMHOID R @reoor@G b Fifl nHmID R eTedTLIS A-5@& Filmeor eNeT&&I0MEGLD.
B: (A)is true and (R) is not correct
A&l InHMILD R 6TTLISI Seuml
C: (A)isnot correct, (R) is true, (R) is not the correct explanation of (A)
AWMOMID R FIfl IDMHMILD R 6TeTLIS A-8& FIflwimet elemdsaLn606v
D: (A) is not correct but (R) is correct

A HEUMI 9LETIT6V R eTetTLIGI &F1f)

Arrange the chronological sequence of the skill development in India.

(a) National Policy on Skill Development and Entrepreneurship

(b) Ministry for Skill Development and Entrepreneurship

(c) The National Skill Development Corporation

(d) The National Skill Development Agency

Choose the correct answer from the options

@BH wmelley Hmedr GLOOUML I MHE& CLMHOSTETETLILL L SemeuuiBH &emnerT &imev g L1 uiev euflem&FliLh S e :
a.BmeT CUM®H LMHMID QS TLSI6L (LM ETaI(HE S TeT CHF W Q& MeTend b.AS M6 GbLTE WMHMID QFTL60
(LEETCAIMT MEFFSHLD c.C5F W HmedT GLUML(H Blmiaierd d.CaH W HmeT UL G (L&D

G Lp & & 600 Lemeussarfley Fiflwmeralleneanwl CHIHOSH &&He] WD ?

A: (c), (a), (b)and (d)

QRCIRC T Tulh g
B: (a), (b), (c) and (d)




23

24

25

26

21,25, LOOYILD FF
C: (d), (a), (b)and (c)

F,3,S% O @)
D: (c), (d), (b) and (a)

@)./F, 91, DO MILD &

Chronologically arrange the following policy initiatives taken in India for women's education
(a) The National policy on education

(b) National committee women's education

(c) New education Policy

(d) Challenges of education: A policy perspectives.

Choose the correct answer from the options

umeSlerepid seveflujLb
QUevor SHevell&&HTH @BH W melley CLMGSGTETETLILIL L Hemneuuih &emerT &mev euiflem&FLILILg. L6Tel (e eorel Memm

aflenFliILG S SaLD :
2.85FA W Hevalls Q&MaTen s b.Q\LIewIT& 66T Hevalldamer CEHW & W c. UH W H60eld Q& TeTans d. H60allulledT Feumege6rT :
() Q&HTETENS LIMTTem6l

Az (d), (@), (), (©)
F,24,3%.8)

B: (a), (b), (d), (0
3,2, T, @)

C: (b),(a),(c), (d)
2., Q). FF

D: (b). (a),(d). (0
25, 91,F @)

Why do girl children drop out of school level ?

a. To support household income

b. school too far

c. Early marriage

d. Engagement in family business
Choose the correct answer from the options.

QUIGHIT LIS &6T LiaTer] &60elluNGeuGW g6t BlmissLILGSMTTEHET ?

a.6fL_19.60T QUBLOTEOTSRHMES 25656V b. BT aTrsHev LiaTefleeT @LILS! c.&PHang G Lerid d. GHLDLS
Qamblevsariey FFHILIB6US

B L& & 600 Lemeusserfley Fiflwimet eflemLenwl CHIHASH S&HeLD :

A: a,dandbonly

S, F L0MMILD &, L GID
B: c,dandaonly

@, T LMmMIbS WL HILD
C: a,bandconly

Sl 24 DODID @ LG
D: b, canddonly

3, @ LMHmILD F oL (HLD

Statement I:

Gender discrimination affects the girls access to participating in schools

Statement II: The existing social inequity and gender discrimination creates implications on participation of children in school education
In light of the above statements, choose the correct answer from options

QIm&ESH WD — 1 umederll LUMGUT(H QL6 GLLHeng &6 LieTefle seallulley LIBIGSHMLUMNS LITHEHMmSI. aumd:E WD —II
FeNGHSH 6 BlevayR6TM Flog SieuldleTemin LMHMILD LIMedleorILMEGUIT(H GLIGwT @GLohen & &6 LisTer] sevaillulley LIkIGsHMHLIS 6
SMHGHBIGHEET 2 (HolTHGSHMSI.

A Statement I and II are true
QTGS WD I InHmILD eumsS WwiLh 11 &ifl
B: Statement I and II are false
QUMSS WD I MHMILD eumSSH WL 11 Heum
C: Statement I is true but II is false
aUTEGSWILD 1 &Fifl 9ye0rmeL euMES WD 11 Heumi
D: Statement I is false but II is true

QTSGR WD [ Hauml SL6TM6 aIMGSE WD 11 &ifl

In which year the All - India women's conference (AIWC) was established ?

Hev QBT W &6TT MBI 6THS 2b,600T(h Bloieul LIl L&l ?

A 1926
1926




27

28

29

30

B: 1936

1936
C: 1946
1946
D: 1956
1956

Which among the following is a recommendation made by the university education commission (1948-49)?
a. Ordinary amenities and deceriries of life must be provided for women in the college

b. There should be no curtailment in educational opportunities for women

c. Women only colleges must be established in large numbers

d. Seperate schools for boys and girls between the age of 13-18 to be abolished

Choose the correct answer from the options

L9 65761 (15 611 60T6L D MU 6T 6TEMEUGILICVEVITLD LIV S 6MEVE: &L & 8 G606 2606007 WIS S TeV (1948-49)—60 LI BSIen Te o LILL L Sl 2
2.5l &6 60 QLGS @6 &G FMGITTE00T 618 &8 EBLD LIGUTL|H6V 6UTLDE:6M& eUFH& 6B 6ULMEIGLILIL GeleuoT(hLD
b.QLI600T S @5 & 5 6T &6Vl aUMUILIL| G616V 6TH S HemL D @ (H&HSHE Gl MG c.CILIEITSHET DL (HLD SHeveurifl&6T 215 & ol6emailey
BloauliLL GeuetoT(HILD d.13 (PS6V 18 GULLISIS G 6T 2_6TeIT 24,6007, G)LIGTIT (&L01H60) 5861588 Te0T 56011556011 LiaTerfl et Haas L
Geueoor(h)Ld

Fflwumer LS amevs CHTHASH E&HaLD :

A (c)and (d) only
@ WOmILD F
B: (b)and(c)only
b ODID G
C: (a)and (d) only
S| LHYID FF
D: (a)and (b) only

9| LDHMILD Sy

Problems faced by women in vocational education are:
a. Stress on traditional courses

b. No provision of flexibility in learning

c. Inadequacy of infrastructure

d. Good network with other vocational education
Choose the correct answer from the options:

QaTHM&ELNUNE QLIGTITSET 6TH T & TETEHLD LI 78 & 6 6urgs 6

a.umyuflw selulleh SI(WsHSWD Q&THLILIG b.asmmedd QBHLDE6| F6Tanln GeVeVTemL c.2 6TeL L emLoLIL]| eugFGHufeTenio
d.omm Qs T MH&e6N UL 65T Q& MesoTL [F6V6V QGTLITL]

Fflwmer LHeme CHTHOSHI&HSE :

A: a,b&conly
iSO DID G LG
B: a b&donly
3,34, ,L0MHMID FF L (GID
C: b,c&donly
24,@), LMoL FF L (b
D: a,c&donly
31,Q),.0MmILD i oL (HILD
Identify the goal which is ensuring equitable and inclusive education under SDGs

FLOLOITEOT LDMHMILD HEMETAIMTULD 2 6TaTm&HER W &Hevel 6TadT LIS 51955 BlemeuUITET QIETIE & &8 MeT @)6v8 & &6 6Ths
EVER T BLD UMBRMS! 6T60TLIENS & 600T L MlWie]LDd ?

A: Goal -4
Q6eVEHG — 4
B: Goal-5
Q&G -5
C: Goal-2
QVEHG -2
D: Goal-16
QeVEHGS - 16

National policy on education 1986, had emphasised the following

&H0elld QS&TeTend 1986 sTauMenm aled U MISHRMS! 2

A: "Education for women's equality"
Q\LI6T0TS @5 & & Meor &Hevel LM MID &FLo 2_[flemin
B: "Education to child"
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&LPIH6M B 56555 6T Gevel
C: Right to survival

QUTLDEISME T 3 LILiemL 2 flemnger
D: Right to freedom of religion

DS &HSHHTSEB DS Ter 2 fleningser

What were some outcomes of the global capitalists crisis in the 1970's?

a.Aborted industrial development in the developing world

b. Increased global economic growth

c. Capital's search for the profits led to reduced dependence on domestic wage labour
d.Increased state intervention in market dynamics

Choose the correct answers from the options :

1970-&61fl6b 2 a8 (PG eumeflESial QBHE 51 UN6T Flev aflem6Te| & 6T Tan6l?

a. elem@pLd BTH G660 emasalL LUl L Qg milley aueTigEdR

b. AF&FES 2 V&L QUITHETTSTT eUeTIEF

¢. BLPEVG TS H 6T @ VITLIS CFLeumerTal 6L (H Gauemeull Lisooflwimenifleir 2 enpliemiig MBS BLILIMSEH G&GMMES
aflaESss

d. 5Hens QUGS 9F &6 2T8 Haneuuih

Fflwumer LS meVs CHTHASH &5.

A: aandbonly

3| LDMHMILD &, L GHID
B: aandconly

9| LnMHMID @) WL B
C: bandconly

< HDID @) L HID
D: canddonly

@ ool F L HID

Which of the following are contributing factors to women's economic insecurity in India ?
a. The casualisation of labour and reliance on piece rate work

b. Womens increasing participation in skilled, high wage jobs

c. Decreased participation of women in agricultural work due to technological changes

d. The lack of legistative protection for part time or casual workers

Choose the correct answer from the options :

etreumeustTelmmlev eTemer @& Wmailey QLIeooTas6rfledT QUITBET TSI LIMSIS ML 6Tenlog @ LIkIg6rfl& @0 &ITyeoot &6 ?
a. HMH&Me0s 2 emLpLliL] M MILD &i6wor(h Si60oTLMeorT Geuemeven HLOLIUN (G S 60

b. HMENLOWITET DHMILD 315 & 261H) W CauemevGerlev GLIcuoTgs 66T 9S85 L1LILG.UITeoT LIBIGS&H ML

c. aamSlevEIL LI LDMMHMBISETTeL ellel &l Galemeusserfley G LIetorgserfledr LItIGSHML] &emm& 60

d. UGHCHT LeVsl HFM&MENSE QG MNETETI&HEHE G &FLLIN6TM LIMTSISTLIL| §)6V6VTenLn

Fflwmer USemevs CHTHASH &5 6D

A: a,bandconly

31, OB §
B: a,canddonly

21.@) OHYILD F
C: b,canddonly

24,@) HDID F
D: a,banddonly

9,9, LHOILD FF

What was a major consequence of the capitalist crisis in the 1970's?
a. Growth in industrial development

b. Shift away from productive activities to financial activities

c. Greater state control over the economy

d. Breakdown of the Bretton wood system.

Choose the correct answer from the options :

19708 6rfl6b (G evmerflg gl Qb [H&SHIQUINET &R 6l 6Ty &6iT 6TEoT6oT 2

a. QamEhmaiemm CLTL G aleTigs

b. 2 HUSH QFweLITH &M BHS BIF FTiHS Q&FW6LITH & EH8E LOMMISS6
¢. QUITIBETTSMTISH 60T 158 3B & 3178 &L BT

d. Q7L L6t T SemwlLer wrley

grflwmer LG emes CHIHOSH &&a]LN:

A: aandbonly

3| LDMMILD &, WL GID
B: banddonly

3, LMHMILD FF L GID
C: bandconly

b LODID G LG
D: canddonly




34

35

36

37

38

@) LoMmmILD FF L (KD

Under the Equal Remuneration Act, 1976, which of the following is prohibited ?
FarGHWE FLLLD, 1976-@) 6T BLp, LNeTaumalsralmmley 68l &6 Q& WL (B 6Teng?

A: Employment of women in hazardous industries
SLUTWSTITeT Q5T & 6 ey G LIctrsserfl6iT GausmevaumuiLliL]
B : Discrimination against women based on wages
26T H) LSS 60T 1 L1LI60L_UN6L QLIETIT S @58 & 6T S meor LIMGLTH
C: Payment of wages during maternity leave
L&UCLM B LULN6T GLIMS 2erHIWILD 6ULDMHIEG S 60
D: Employment of women in mines
FJRIGBIG6r160 G LIeuoTas 6rfletr Gauemev eumiLiLy
What was a main characteristic of the 1970's that led to a major restructuring in global capitalism ?

1970-60 2_608 (WSS SIAISH 6L e QU LMIFETWINDHESG QLU HOF QF6TM (NS I G600TTIDG LD 6T6T60T?

A': Decrease in technological advances

QBTUGLEIL LI (LNeTGEUTMMIEIS 6T (&6 Me]
B: A global slowdown in economic growth

QUTBETTSTT euemFFRUN6L 2_susarmaill b S Blemev
C: Complete collapse of the capitalist system

Wwaeumaflggien iemliLer Wwemnwwimer aflpge
D: End of international trade agreements

FIaCsHEF AUISHS RUILIBSMISET (PI46]5E eUBSE

‘What was the primary purpose of foreign aid during the era of Structural Adjustment programs SAP ?
s Ll FHlQFUS0 G L ST 6T (SAP) F&MLISSH 60 QeueflBTL B 2 SaNuler (S eTenin GBS LD 6T60Teor?

A To increase political privileges in developing countries
auem®LD BTR&6fle rFlwey ALl fleninsemer 915 &5 560
B : To support survival of state - run enterprises
ST BLSSID Blmielermhiserfler 2 ullfeuripeneal 9515560
C: To promote "good governance" through pressure of bribing factors
(WSHD VLS VEHFLD QHBTH &G LD &Il 86T eLNEVLD HEVEVITLFlem Ll 2618 G 6 & &6V
D : To limit economic activity and reduce real incomes

QUITIHETMSTT HLEUYHMESH6T DL (HLILGSSIS6) LDMHMILD 2_600T60LD 6)HLOITEITS MG (60N & 560

Which of the following are "work-family conflict" faced by women ?

a. Time based conflict

b. work conflict

c. Inter personal conflict

d. Behaviour based conflictChoose the correct answer from the options :
B LD 5 600TL60)61 8561160 G LIGTITS&HATITEL 6TH T QS METETLILI(HILD Gl ev—&HLDLI FFFT6 G 6T TOT60T, 6TEOT60T?
a. GBILD MG F&F &6 6T

b. Geuemev FMTHS FFFT6SH6T

¢. D6oflE 2 M6 5 EH &SR 60 L GUIWLITET F&FI6) 56T

d. LSS MM QSTLITL ML FFFT6| 6T

Fflwmer U emevs CHTCHOS[H &SN

A: aandb

S HDID <y,
B: aandd

S| OYILD F
C: bandc

<4 DHYID §)
D: candd

@ LoD F

Which of the following is an example of a "Home based Worker" ?
Wetreu®eusoreummlev a1l 'af L (h 2419 LiLiem LU 6VITeoT LIeuof WM eTedT LIS M & TeuT 6T(h&SId&TL(H 2

A Street vendor

Q& aNwimum]

B: Domestic Servant

afl () CauemevsSETTT
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C: Earthen pot maker

LD 6BOT LIMedy 60T &Ml ILImer iy
D: Rickshaw puller

& e GepliLieur

Who among the following has written : The origin of family, private property and the State (1845) ?
B LD G 600TL6U T & 6160 "The origin of family, private property and The State 1845' 6T60TM) LIS S &H S 6MS 6T(WQH WIGUT WITT?

A Rosa Luxemburg
GIMEIT 6EEVLIDLITS
B: Sandra Whiteworth
FMeTLIT UL eQ6eUTTg
C: Fredrick Engles
SQUTI18 IS 6iTerv
D: Boser up
CUTaQl LI

Which of the following is covered under the National Créche Scheme ?
WetTeumeuatTeummlev 6781 CHAW GBS HET LIG6 &HTLILG S LSH 6T HLp 2 6767 (NEHH W JDFOMGLD?

A': Day care facilities for children below six years of working mothers
LIewf1 8@ QFeuaIh GILIGUITE: 6 60T 6 6ULIS! aUeMIT 26T GLhem G G660 Ligsev GBI LIFmflliL
B: Day care only for girl child
QILIGHOT & LPIH60) & 8 @65 &8 Meor LIg60 LIFMniliL] ol (HIb
C: Day care only for boy child
31,600 &LPIHEN G HEH S TeT Lidev LIFTLoFlLiL] L GIn
D : Education to child between 4 to 8 years

460 ([HSI 8 QLIS CUENT 2_6T6T &L 1H60) &5 @55 & MeT &Hevel

What is considered a key element of entrepreneurship by Peter Drucker ?

LT Lpssrme Qs mle (nenereller (06 W SIDEFINTSHS &HHBSLILG IS 615 2

A Intuition
2 _6TEH60IT6Y
B: Knowledge and Education
sipfle) HOID &evel
C: Risk avoidance
@Ly selljly
D : Cultural Environment

SHUMEFFMT GLO6V

Which of the following is NOT a characteristic of Entrepreneurship ?
eraumealeralmmley 6T& Qs midlev (pemeorailedt S Ui NuievL] oj6v6v ?

A Innovation

L|&lemLD
B: Risk-Taking

QL gy
C: Dependency on Luck

SIBTYL S0 FTTHH BSS
D: Decision-making

(AT GF:: XV

Which of the following are benefits of developing entrepreneurship ?

(a) Promotes capital formation

(b) Decreases employment opportunities

(c) Encourages Innovation

(d) Leads to balanced economic development.

Choose the correct answer from the option :

etraumealsralmmley sTemal QG TLI6 (LD emaTem 6l aUETTLILIG 6T HETenLNS&H 6T 2 6Temgl?
a. eLPEVG AT 2_(HEUTEHHSHNS 2618 G N &R M &I

b. GaUemey QUMUILIL| S8 6M6T G mMER M SI

¢. LUSlemLnem 2618 G el &R M Si

d. FIDFEFTeT QUTIHETTSTT aUeTJER GG auflal&GER M
GELh&aenorLaumnilev Fiflwmer aflemnLen CHFHASEH &L :
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A: (a), (b), and (c) only

Sl ODID G LG
B: (a), (b), and (d) only

3,3, LDMHMID F L GIWD
C: (b),(c), and (d) only

24,@) WmHoID FF ol (b
D: (a),(c), and (d) only

S1.@.LMID FF L GID

‘Which of the following are examples of support systems aiding entrepreneurship development ?
(a) Training facilities

(b) Family pressures

(c) Financial Institutions

(d) Research and Literature

Choose the correct answer from the options :

Wetteumeuarelmmle QST (LNenaTGaU eUeTFER 6@ 2 F6|lD 3,576 emLDLIL|G6r160T 2_ & TT6uT hI&H6T 6Tem6u?
a. LWIm& eusd ser

b. GHIDL (WSS MIGH6T

c. BIB) [B] 0161607 MBI & 6T

d. QL TTUES InHmIh @evsSH WD

GLpgaenorLalmnilev Fiflwimer aflemnLent C5FHOSH& &6 LD:

A (a), (b), and (c) only

3,2 LOHIILD @) L HILD
B: (a),(c), and (d) only

31,@),L0MmILd iF oL (HILD
C: (b),(c), and (d) only

91,@), MM FF L GIWm
D: (a), (b), and (d) only

9|, LDODILD FF 0L GHILD

What are the key roles of micro finance organisation (MFOs) in poverty alleviation ?

(a) Providing savings and Insurance service to the poor.

(b) Offering only credit to borrowers without any additional support.

(c) Helping to smooth income flows or manage lump sum expenditures

(d) Enhancing borrower's capacity to manage larger Loans for business expansions.

Choose the correct answer from the options :

aumieno efILILN6L BI6ToTHES) 6] m16160THI &6 6T (MFOs) (&G WL LIMKIEG 6T6dTeor?

a. geLp&h G Cadlliy LHmiD &TUT6 CFanels: 6T aULphIE S 60

b. 6TH S EUTIH () FH6V 2L,FT6LD G 6VEVITLOEV &L 60T GUITMHIGHLICTHEBHE G DL (HGLD &L60T 6ULPMHIE 60
c. QUBLOTEN R L BIGE6T ETMES (2) QLTSS QFeallerhi&e6T Blaf &S 2 &6 %560

d. eueoollss N ifleums &SR H&TSH QUL &L 60T8 606l Bl TeUS &8 &L60T 6UTHIEG LTS 66T Hmeirg:enar GO LB &&IS560
FELpsaeoorLeumnilev Fiflwimer ellenLenl CHIHASH &80 LD.

A: (a), (b), and (c) only

31,94 LHDID G LG
B: (b), (c), and (d) only

4,@) LHDILD F L BILD
C: (a), (c), and (d) only

31,@),LoMmILD FF L (HILD
D: (a), (b), and (d) only

31,31, MHMID F L G0

What is the primary function of the SHG in the context of financial intermediation ?

(a) It carries out savings mobilisation and lending on behalf of its members.

(b) It must have a direct relationship with the bank or MFO for all transactions.

(c) It is responsible for record keeping and managing loan conditions for the group.

(d) It act as an autonomous financial organization, similar to a micro bank.

Choose the correct answer from the options :

B8 @enLuf 1960 LNedreorevoiluilev & 2 566886l 6iT (LD 60Tem LD WLIT6T Li6uof eTedT6or?

a.Gesl 2 Ml Neriserfler emiUms CFLALILI&Gm6TES HIL(HS6 LDMHMILD &L60T 6UITMHIGSH60) GLITETM LI6out 6ol
CLMOS&HMeTEUSI

b. 9eMeTH Sl LITflaUT5S 5 6meT5HEH 8 @D aUBIH 360608 MFO 2 L 6T GBI 2 Men6ld Gl&Teuorlq (H& & Galetor(HLh
¢. GWeMHSTET &L 6T [Ble06VemLng 66T LIF6] QFUIS60 6veugl BlFafGH60 A WammEES @5 QUITMILILTGLD
d. @8R &ECTT aunkIG en Wl CUITLCel 6(H &eTel TG B1H SemliLmg QFweaLGRma!

GELh& s enurLaumnilev Fflwmer allemLenw CHFHOSEH &6 LD.

A: (a), (b), and (c) only

3.3 LODILD @) L GILD
B: (b), (c), and (d) only

<), @), OHOID F LHID
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C: (a),(c), and (d) only

91,8 LoMmmILD FF oL (HILD
D: (a), (b), and (d) only

9|, DO DILD FF 0L HILD

Which of the following statements are correct about Gender Budgeting (GB) ?

(a) GB is concerned only with the formulation of policies for gender equality.

(b) GB includes the allocation of implementation resources, impel, meditation and monitoring of gender-sensitive program.
(c) Adequate monetary allocations are important to achieve desired gender equality outcomes.

(d) GB only applies to the health sector.

Choose the correct answer from the options :

umedlest LILQ gL Limmlw LesTal(BLd S mmigertley eTemel FiflWimeremeu?

a. LImedleor LILQ3L eTedrLIG! LIMed6or &FL0 S S161USH M & 60T Q& MET6m 886016 2_(HUTH GBIV L HID & &HemMm

Q& meuoT(H6iTengl

b. LmeSlenT auTe] QFeVaIS HL L SFH6V QI6THIGHENET 625185 ESH60, LIMTe 6T 2 60T T HmedT HLLMHIgG 66T Q& W6eVLIH & SISH60

LM MILD & 600785 600l & B 6V | L_BIGLD
c. @UIW Lmeder FingSie 6MlenerTe]deneT 3f6m L CLITSINITET LIGT 58158 M &6 (n&HS&H Wb
d. umellenr LLQYL FHMTHTTS SeMMEE L HIGLD QUTHHSID
GLpaevorLeummlev Fiflwmer ellemLenwl CHIHOSH &SHaLD :
A (a)and (b) only
3| LDMMILD &y, L (D
B: (a)and (d) only
S, LHMID FF L GID
C: (b)and (c) only
<4 OO @) LGLD
D: (c)and (d) only
@ LMmILD FF oL (KD

What is a key motivating element for women entrepreneurship ?

B LG G600 L6U MNIleL G L6 QG MLS6L (L6 6T G6UTIHE & MTET (LN&HGH W 261885106l G LD (6 LGS 6T6iTeor?

A: Financial dependency
B FryL
B: Motivation to face challenges and accept new ideas.
FMVEHEMET 6TH T Q& MeTeme|h LG W GUITEF 6608606 M MIS Q& MeTeTe LD 2581560
C: Lack of raw materials
eLEVLIQUIMTBL S 6rfledT LIHmITE &emnm
D: Limited opportunities
GUE T MIGSLILIL L 6UITUILIL| 86T
Who is credited with starting the Grameen Bank in 1976 in Bangladesh ?
QIBIGCHFE TV 1976-60 RAFTMLSET aUBIH e QSTLHBISRIW QLB WMTIHEE 2 60oT(H?

A: Dr.Amarteya Sen
LT&LT SI0FSWIT Q& 60T
B: Professor Mohammad Yunus
WeTmasl (&g WD
C: Dr.Muhammad Ali Jinnah
LI&LT (NSNS 3169 eSledreorm
D : Sheikh Mugibur Rahman
G698 (PBLLT TamLDTe
Who typically forms a Self Help Group ?
F&W 2 5alé GLem6l 2 (HeuM&HGLeUT WTr?

A': Wealthy individuals working for large investments

SIF& (NSHSHSHM6T THTLMTEHGLD LITOTe: &M T8 6T
B: Large corporations seeking new markets

LUBW FHenSHemeT CHH D QUK B miew 6ot g et

C: Poor and marginalised people to build their lives, families and society.

genlp nmmilh elleflibL] Bleneulleh @BEHGLD IDG&S&HET FHIGET FeNSHSHmMS &L 19QWIWLIL QS TLBIGS

D : Government employees interested in entrepreneurship.

QT WemeTeiley &y, TalLN6VeT 3iJ& 268 6T

Which of the following are the objectives of the National programme for Health care of the Elderly (NPHCE) ?
a. To provide accessaible and affordable healthcare services for the elderly
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b. To promote active and healthy ageing

c. To provide life skills training

d. To establish medical services exclusively for urban population
Choose the correct answer from the options :

LN edreumeusoreummlev stemeu CSHW NG CWITT &H&HEMSTIL UFTFILiLS S LS5 6r CBTE S MmIS6TTEGLD?
2. (NHCWMBEES 2 eDIGHETFalq L LDHMILD L0606UTET C&F6Me6U8: 6T aULDMHIEG S 6

b. &0IGMILILITET LOMMILD &L, GI TG WLILDTET (LD SI6MLN6mWLI

c. eumpailwiev Hmedr LUIHE oerfl G560

d. B&ILUM 0&HEHHQSH6T LITHCWSELINTS 0BS5S0 CFenaldeneT g MLI(H 5SS 60

GELpseoorLeumnilev Fifluwimer ellenLenl CHIHESHH &&aLD:

A: aandbonly

3| LnMHMILD &, L GID
B: bandd only

S, LDHMILD FF L GID
C: canddonly

@ LMHMILD F L (LD
D: aandconly

9 LnMHMILD @) LB

According to the National Commission on Self-employed women and women in the informal sector (1988), what factors need detailed examination to
understand women's occupational health ?a. Physical stress & postural positionsb. Psychological stresses and domestic committmentsc. Influence of stress
factors like family relations & role varietyd. Safety regulations & training programmesChoose the correct answer from the options :

WenmEFTTT SlemMUile) HWASTLA6 QFUIWLD GLIETITSET LOMMILD G)LI6TITE: @558 M6 GH5 G UL 21606007 U &S 60T (1988)
FammILILG QUetorgerflar QeTLETT CrmeERWSen s LS GG TETeT 6T6iTer & ITTeuol &6 G&Hemel LoMMILD 6T6) 6l T TeoT
U6 CHemeu?

2. 2 L6V SIS SMIGET LDMMILD CSITIE0 60T [B] 6016085 6T

b. 2_6mafl 6L (DS HMBIGET IDMHMILD GHIDLI &L 6MLNG6T

¢. OO 2 Me&6T MHMID LIkIG Caumim® GLUITETM 6T SI(D&S &TI6unl1&6f 6 Q&6 msE

d. urgIs UL & wenmaer mmih LuHE S L kg6

FELpsaeoorLeumnilev Fiflwimer ellenLenl CHTHASH &5

A: abandconly

Sl HDID G LG
B: b,canddonly

<b,@) HDILD FF L (HID
C: acanddonly

91,@ WODILD F oL HILD
D: abanddonly
S, 2 LHOID F LGN
What are some suggested strategies to manage stress among female workers?a. Employee Assistance Programs (EAP)b. Regular breaks and rest intervals c.
Ignoring psychological issues at the workplaced. psychological counsellingChoose the correct answer from the options :
Quietor Lisooflwimerj&serflen G L6 (WSS &nmefliLgmamer Fev LS TsaLILLL 2 GH 6T WITeneu?
a. Leooflwimery 2 sellg S BIG6r
b. QPG SHLOTET @ LG alef 6T Inmmih eule] @ e GeuerflaeT (RSI)
c. bueooflul LG Hev 2_amellich §1&8 608606V LM &8 600115 560
d. 2_emailwiey 21,GeuITE6m 60T
FELp& & eoTLalmmieT Fiflwmer eflenenl CHIHOSH &&HaLD:

A: a,bandconly
S| LLOHAILD ), WHMID @) LGHILD
B: b,canddonly
&4,@) LHOID FF L GIWD
C: a,banddonly
S, HDUD FF L HID
D: a,canddonly

a, c LMD d LD

Which services are tracked by the RCH portal ?a. Antenatal check-ups(ANC)b. Immunisation servicesc. Emergency medical treatment for childrend.
Distribution of IFA TabletsChoose the correct answer from the options :

RcH (GUITTL_L6V) Portal 6THQ &HHS G5 601615 60)6IT & 600T8 600118 B M S1?

a. BILIUSTe LUlCFTHemenrdH 6T (ANC)

b. GHTUWSHILIL CFem6uUs 6T

c. GBS HEHESTET IFT IDHS S0 AR Fa g

d. IFA D& H e T&6T el BIGWIM&HLD

FELp& & eoorLelmmieT Fiflwmer eflenLenl CHIHASH &&HLD:

A: a,bandconly
S, < HOILD @ LG
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B: b, canddonly

<%,.@) LHDID FF LGID
C: a,banddonly

3, HDID FF L HID
D: a,canddonly

S1.@), OHID FF LEILD

Which initiatives are part of the National Tele-Mental Health programme (NTMHP) ?a. Tele MANAS help numbersb. Collaboration with Aditya Birla Group
Empower Initiativec. Distribution of financial aid to patientsd. Counselling in 20 different languagesChoose the correct answer from the options :

C5HW QS MemeCLA D6TH B L GH 6T (NTMHP) (6 LIGHWITEH BLDE&&H600TL 6T HS (W MHT&HET GLoMHG & melTerr LI L6or
a. Tele MANAS (Helpline) 2_5 6 6T600T& 6T

b. 2HSWIT LATeLIT GWPLD G HIL 60T ©)60)600T 5! 6TLD LI T8 &5 T60T (LD 60T (LPWME

c. GBmwImefl&En e BIH 2 sel aILphi@se0

d. QeuelGeumi QLMLA&6rfl6) 2L C6eVMTEF 6T CULDMHIE6US

BELp& & eooTLeummieT Fiflwmer eflenLenl CHIHASH &&HLD:

A: a,bandconly

91,24 LDHMID G LD
B: b, canddonly

<4,.@) LHDID FF L GID
C: a,banddonly

3, 3, LHMID FF L GID
D: a,canddonly

3, @ LMD F L GBI

Which one of the following are true regarding the National Family Health Surveys(NFHS) ?
CHAW GO &EMSTT HeooTd:e & BILIL 216 86T, (NFHS) QML TN LeTel(HeueTelmmle 6ral & iflwimersi?

A': NFHS Surveys are conducted nationwide with a representative sample of households
NFHS &600r8:0 &G\ GG LUkt et NFSHBI&H wr& et Bk WWeuSIh HL & &L1LI[H S 60T meor
B : The Fourth round of NFHS was conducted in 2015-16 to provide estimate only at the national level
GxHH W 9laTellev LOLBHILD &H600T8:61 8 (HLIL| G 66T ULOMHIG6US M & TE NFHS-60T [HT6T8: MeUg! & Mmi 2015-16-60 FLSSLILIL L Gl
C: The International Institute for population Sciences (IIPS) is the nodal agency for NFHS Surveys
D&SHET QBTN M6l WIS ST FIalCHE Bl MIGUGTLD &6T&h6 &G LILI&TeT CHITL6 JFRR6TH I,
D : Increasing the number of Medical Colleges
LOBS 16U &6VauTf1ugledr 6TeuoT600r] 856018 6M UL B &5 560
What is the primary objective of the MusQan initiative launched by the Ministry of Health and Family Welfare ?
FEHEISTY OHMID GOILDL HeV SeMDFFSHSH TV QS MLMIGLILIL L MusQan (6TUN W DFNUNGIT (NG 6iTemLn CBITEH LD 6T60T60T?

A To increase childhood immunisation coverage
GLPHemGLI el CHTUISSOLIL LUMSI&TLmL H &S50
B : To provide quality child-friendly health care services from birth to 12 years
oLy WpS6L 12 WGl a6 ST &GPHMS Bl L| &HE&EMTHTT CFeM6lsH T 6lLlpThIE6alS5)
C: To promote breastfeeding practices in the first six weeks
PSH M UTIRIGETI STULILITE Q&ETHSH G0 LINESHEHSHMS 2618 G 6 &S 60
D : To distribute Oral Rehydration Solution (ORS) packets to children under 5 years of age
5WSIGGLULL GLRHensHEHsE (ORS) aurmiiau BEImHm &enyaFe UMEQEL(H&GameT allBlIGWTEHLD Q&S

In which age group Mortality in infancy should be higher:a. Male infants than female infants b. Children in age group (5 - 10 ) Yearsc. Particularly in the first
month of lifed. Particularly in the 5th year of lifeChoose the correct answer from the options :

For @mUiL 6ThS G eT LD 9H &L STl ILGHmS1?
a. 96007 F &G HeneT el QlLI6ooT F& & & 6T

b. 5-10 QUUWISIDL LI &LPHED&H&H6T

¢. GMILILITS (WNGH6V DG L1560 &85 6iT

d. &MIILILMS 5 QUG G LPHE0 S 56T

GLpgaenorLalmnilev Fflwimer eflemLenw G5 HASH &L

A: aandconly

S| HYID @ G0
B: bandconly

3, HMID @) WL GILD
C: canddonly

@) LMmmILD FF L (KD
D: aanddonly
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9 LnMMILD F L HILD

India recognised the importance of reproductive health and introduced RCH in which of the following year ?

@BHWIT THS 2,600T(H @) 6TLIQLIHES HevemeT SBIS&HHS MG QFWIL QSTL B WS?

A: 1996
1996
B: 1997
1997
C: 1998
1998
D: 1999
1999

How the health status of women in different phases of life be reviewed ?
QuUettT & 61607 2, GIMEHSWILD Bletrsuemnuiledr LIsEaUmI &MeV &L L I&G6T eTelell G 3iemisLIUGSmSI?

A Life cycle approach
UTDEMS HEDHEF TGS ®OD
B : Mortality Rate approach
@ouL &S0 SITUS LD
C: Fertility Rate approach
&H([HOMIGE aleT RS TEFTTID 280G (DM
D: Ageing Rate approach

WHCWTT NESTEFFTT SLVGDEOD
Which goal specifically targets reducing inequality within and among countries ?

BT[H\&EHE G 6TCETW|LD, BTH &HEHHR 0L CUWILLD FLOSSI0ILA6TENDmMWS GaMLUILIMS 61hS @6V&HE GMILILIMS
Q& meoT(h 6iTeng! ?

A: Goal 10
@& 10
B: Goal7
@QVESG 7
C: Goal 16
QeVEG 16
D: Goal 4
QGG 4

Given below are two statements one is labeled as Assertion (A) and other one labeled as Reason (R) :

Assertion (A) : Goal 5 of the SDG's aims to achieve gender equality and empower all women and girls.

Reason (R) : Gender equality is fundamental for a peaceful, prosperous and sustainable world.

In the light of the above statements choose the correct answer from the options given below :

FaM Ml (A) SDG-&6rfl6T @)6V8E& 5 LIMES 6T FLOGSI6US0NS 606G LDMHMILD 6M60TH Sl G LGS 6T oMM F Ml & eh s
R&ETILD eflliLeng GBS0 6 8 MeuoT(H 6Terg.

SITTEOOTLD (R) 3{6MLOG) WITE0T GUETLOTG0T LOMMILD Bl60)6VLITET 2 0 HM & LIMeN 60T FLNGSIaULD {19 LILI6D L UITEOTS!.

Fflwmer aflemLemwl CETHOSH&HHALD :

A: Both (A) and (R) are correct (R) is the correct explanation of (A).
FaMHM DMHOILD S&TFevord @) Fevor(GIh &ifl
B: Both (A) and (R) are correct but (R) is not correct explanation of (A).
Fa MM LOMMILD &TFeooTLD &Il SL60TT6V o D MIEH & TEoT 668 & LD &6l M MeoTSl
C: (A)is correct (R) is not correct.
Faml FIfl 9L60TMT6L SITT6TLD Feum
D: (A) is not correct but (R) is correct.

Tl F6UMI Se0TT6V STT6ooTLd &Fifl

Which of the following statement is correct ?

Statement (I): The sixth five year plan (1980-85) marked a shift from welfare to development focusing on women's access to resources.

Statement (IT): The fourth five year plan (1969-74) focused on empowering women at the grassroots level through Panchayat Raj Institutions.

Choose the correct answer from the options given below :

B &H600TL Fa M6 61l Filwimera ?

FaMmi 1 : SLmTeug Bb&Meor(h HIL_LLD (1980-1985) HevetL ]l Blemevwled(bg eueTiFH 6@ @b LTHNSMSEH GMSS
QUGITTEIGHEMET GLIGTITE 6T 2{600I(&G I H6V HalTID QF ST WS

Fahmi 11 : [5T6TS Mo BHSMeuoT(H S LD (1969-74) LIEHEFTWSHSI TTER {MLOLILIGET eLN6UD SIGLOL L 2(6mell6) GILICTTS @& &
ARETILD 36l S 5H6060 Hauerd QFNSH IS

Fflwmer aflemLemwl CETHOSEH&HHALD :




64

65

66

67

68

A': Both Statement (I) and Statement (IT) are true.
Famml I-10 Mo 11-1b &

B : Both Statement (I) and Statement (II) are false.
Fa MM [-1D LDMHMILD [I-1D Heumi

C: Statement (I) is true but Statement (II) is false.
Faml 1 F1fl QLeTTeL S MM 11 HaUM

D: Statement (I) is false but Statement II is true.

FaMl [ HEUMI SLEOTITEV G MM 11 &if]

Which of the following is an example of a non-governmental initiative that contributed to women's development in India ?
@B W meiley QLTS 66T aeTIER &G LnIG6TSS T&HETTT WWMHH &S Llearalelaraimnle 6Ths eTh&SIS&TL (B
Fflumerg e1g) ?

A: Women Development Commission
QLIGTOTSH 6T GLOLDLITL(H) 24,60 600T WILD
B : National Commission for Women
G5 W &6l <L,emevoruih
C: Mahila Mandals and DWCRA groups formed by NGO's
LOGEITIT LDEDOTL6V LOMMILD DWCRA & (L0 & 86T NGO-6UIT6V 2 (HeuM&H & LILIL L &I
D: Support to training and Employment programmes (STEP)
LWHA wmHmIh Gelemev euMUILIL] S L BISHEHEEG 2,56
Which of the following is the key function of the National Commission for Women established in 1990 ?
199060 BloieuliLL L CaH W &6l @,60600T WS H 60T (P&HGR W Q&FWeuLIT® Llereu(heusstelmmlev eTg ?

A Implementing Women's education programs
QUetor Sevell HL_L 156016 [H6M L (LN MLIH S SIS 60
B: Examining Safe guards for women under the constitution and laws
STFRWevemDLIL] InMMILD FL L 155 6rfl6dT BLD G)LI6T0TS: @55 & MeoT LIMSIGTLIemL LT TU1gH60
C: Conducting health surveys
GHMTSHMT &600r86 & HLIL HED6T L &S5 60
D: Providing loans to women self-help groups
w&6MF &W 2 5ailld GUHHEHSHE HL 6T CULDMKIGSH60
Which of the following modes of approach to women's development focuses on redistributing power and addressing gender specific needs ?

QLIevoTS 61 60T QUETTEG &85 Mot LTl [HLD 2600 & (LNemnm&6fleL 618 SIHHMTISHmS DM LIS FTe| QF iauSaviid Limedeor
G L CoHemeaugemneT Blaliss QFUlaFH eln &HalaTd QFSSRMS 2

A Welfare mode

BevesrLifl Lpemm
B: Equity mode

FLOBleM6Y (DM
C: Anti-Poverty mode

QImIENLD TEIFLIL| (Lhenm
D: Efficiency mode

Q&FWIGL FMET (emm
Which of the following mode of approach to Women's development focuses on improving women's ability to make their own choices and become active
participants in society ?
QLI6voTS 611 60T 6UETITEF G &85 Mot LI 60TeU (HLD 2 600 (& (LN emM & 6TT16L 6T&1 GILIGTITS: 6T HhIS6ME Q& THS G5 T6)&HemerT
GMAG&TETEHLD Hmener CLLMG S SIS NI FeNs 55 60 01 U8 & LM LIBICS MLIMETF&H6T TS LOMMIaISH eI &HaleuTid
QFESHBME! ?

A: Welfare Mode
BevesTL il Wemm
B: Equity mode
FLOBlEM6V (DM
C: Empowerment Mode
B snyeflss5e (nemm
D: Anti-poverty mode

QI TRHTLIL| (PeOD

When did government programs for Women's development begin in India ?
QILIGTOTG&HET GLOLDLITL (D &8 T60T HL_L_IBIG6IT 6T 260071960 @ HH WITeNl6L QML BIGSLILIL LG ?
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A 1947
1947
B: 1954
1954
C: 1974
1974
D: 1980
1980

Name of the Report of the committee on the status of women in India :

G Lh & s e00rLaumilev @BHIWL QuettTg: 66T Blemev oiMlwib & weller  ml&enssuller Quweny Gl :

A': Shramshakti
FATDFsES
B: Toward Equality
FINGEI0GHS GBS
C: Report on Empowerment
B &EMTISH D&M 9ifl&ens
D: Stree Shakthi
g5
The Central Social welfare Board Established in the year :
6THS L600T(H LDSFH W FeLnd: HevSSIemm CHMTHMIN&ESLILILL G ?

A: 1951
1951
B: 1956
1956
C: 1953
1953
D: 1952
1952

Match the following :

List List Il
Article Deals With
(a) Adticle 39 (q) (i) Equal means of livelihood
for men and women
(b) Aricle 3% (d) [i) Equal pay for Equal work
(c) Aricle 39 (e) (i) Protection of workers
health and strength
(d) Article 42 (iv)  Just and humane work
conditions; matemity
relief
(e) Aficle 44 (v)  Uniform Civil Code

Choose the correct answer from the options given below :

Glumm&ss:
uliguisv | uliguis Il
s758 allenésid
(a) &785139() (i) T EhEHED
Gl LIETTE (6TH 8 (5D FLOLDTEDT
SUTLDEUMTH T suLblssiT
(b) &U5&I39(d) (i) & Cousmeuds Fo
osrlwib
(c) &788139(e) (i) Qpmblevrergamefss
iErraélwib wihHmb
suSlEmLDEMILILI
UIMTG|&TSHEH60
(d) &Usg 42 (iv) Blumunrer wHmib
wesflgrllwmer Ceusnsy
Blemeusmiossir LMHM)LD
walGum) Hleuryemrid
(e) FHS| 44 (v) Gurg 2 flenwuilwesb #lLid

dpaseirLeumnley Fflwner eflenLenw CHTHESH S :

Az (@)D, (b)-(iD), ()(iii), (d)-(iv)
(@)-(1), (b)-(i), (¢)-(iii), (d)-(iv)
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B: (a)-(i), (b)-(iii), (c)-(iv), (d)-(i)
(a)-(i), (b)-(iid), (¢)-(iv), (d)-(D)
C: (a)-(iii), (b)~(iv), (c)-(i), (d)-(ii)
(@)-(iii), (b)~(iv), ()-(1), (d)-(i)
D: (@-(iv), (b)-(ii), (c)-(iii), (d)-(D)
(2)-(iv), (b)-(ii), (¢)-(iii), (d)-()
In which year did India ratify the CEDAW ?
CEDAW-606U @BH W 6THS 2600T(H ABESfSHS ?

A: 1990
1990
B: 1991
1991
C: 1993
1993
D: 1995
1995

‘What does psychological emotional abuse include ?

(a) Failure to provide adequate food or clothing.

(b) Provide basic education.

(c) Striking a child

(d) Engaging in a Sexual act or shaming a child.

Choose the correct answer from the options :

2 emaflWev / 2 eoTIFR FH W ment Siaq L NTCUMEHSH 60 LD &L 6T6m6U L hIGLD ?
a.GUITSILDITEOT 2_600T6Y (2]) 2_60)L QULNMHISH G &6UMIGH6V

b.2|Q ILIenL &Hevalleml 6ULDMHIE 6D

. GLHOGHMW I LILIG

d.e( GBS WL 6T LIMedlwey QFWede FHLMB S SIS
GLpgaenorLalmnilev Fiflwimer aflemLent C5FHASH&E&LD :

A (a), (b) and (c) only

Sl @ LG
B: (b),(c)and (d) only

24,@),FF L GID
C: (a),(c)and (d) only

31,@),FF 0L (H)LD

D: (a), (b)and (d) only
3,3, F LD
Assertion (A) : The implementation of a uniform civil code will ensure gender justice and national integration in India.
Reason (R) : Personal laws in India vary across religions, often leading to discrimination and conflicting Ideologies.
Famm : QU 2 flennulwe FU LD oL@ SSLG S @hHwmeilev LimeSler BS wmHmIh e@ennliLml el 2 miG)
Q&L
SITyeoorld : @BH Wmeilev SeofllILL L FLULMIS6T IS higefleanL G CeumiLiH&eTmen. @& QUGLOLIMaID LUTGUTH MHmih

WreTUL L RSSMHSHIHEHHS el alGERMSI
Frflwmer allemL 613l 2

A: Both (A) and (R) are true (R) is the correct explanation of (A).
FaMHMI LOMMILD &TFeooTLd G Tevor(HID Fifl LoMHMILD SMT6euTLD 6T60TLIZI —& s meor FIflwimeot elemg: &L
B: Both (A) and (R) are true, (R) is not the correct explanation of (A).
(R2) LDmMILD (R1) @Fesor(ld &ifl nmmiLd (R2) 6TedTLIGI (R1)& S meor Fiflulment eleng:&sin 3j6v6u
C: (A)is true, but (R) is false
FaDm) &Fifl SL60TMEV STTEoOTD F6U )
D: (A)is false, but (R) is true.
Fa DM HeUmI QLETT6V &TFevorid &ifl
Statement I : The Universal Declaration of Human Rights ensures equal Civil and political rights for both men and women.

Statement IT : CEDAW aims to eliminate discrimination against women in various spheres such as marriage, employment and health.
Choose the answer from the option given below :

Fammi1: eflg 2_[flennserfler 2 suasermell LII&L 6D Su,600T8 65 & @D 6\LI6TTS: Eh & @D &Ll meT Gl ullwey mmild
TH W6 2 _flemnsemner 2 MIFH QFURMSI.

oI 11 : CEDAW &) ([BL0o60oTLD, GeuemevaumLIL] DMHMILD &&TEHTILD CUTeTm LGl Ml Sienm&erfley 6 LIcuTS: 65 & 6T [T meor
LUMTGUTLL S&MHMaImMS CHMTEHELNMHS G\&MeuoT(H6Tengl.

FELp& & eorLeimnilev Fiflwimer ellemLenl CHIHASH &&HALD :

A: Both Statement I and Statement II are correct.

FaMHmI I LOMHMID Fn ol -0 &Fif]
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B: Statement I is correct, but Statement II is incorrect.
T MM T SLE0TITEL Sm MM TI-1D Heum

C: Statement I is incorrect but Statement II is correct.
FaMmI 1 H6Um LE0TT6L FnMmi 11 &if)

D : Both Statement I and II are incorrect.
QU (H) FnHMISEBHLD SHeum

What is the purpose of 'The One Stop Centers mentioned in the context of gender-based violence ?
umedleor o1q LiiemLullevmest euesTnemmUiedr Ledreoreooiludley @I LILIL L 62 BlMIGHS 6MLOWIThIG 61607 GBTE:&LD 6T60T6uT ?

A: To create awareness about Gender-based violence
umedlest @iq LiLiemL_ullevmeot ausdTpemm Limmlw eNSIiLevor T el 7ML &S5 60
B : To provide support and assistance to women affected by violence in a women friendly environment
QUIGTOTSH 6T [5L_L| &L069l6L eUetT(LDEmMWITEL LIMH &S LILIL L QLIGITEHE@5&HE 25Tl 2 Fallub 6ULpMkIG S 6
C: To implement laws related to Gender Equality
LImedlesr FL0GSIaUID QG TLJLITETE L L IS0 6T 06V [H & &S5 60
D : To reduce the no. of Gender-based violence cases.
LIM6L [Blem6v 319 LILIeM L U6V ITEOT GUEBT(LREMM 61 LD & (&85 6iTl60T 616006001 1856018600 LIS (& 6MM & &6V

Under Article 14 of the Indian Constitution, what does "equality before the law" signify ?
ABHW TR wevemnnliNer 14-eug LNiflefer BLb "FL L &G 60T (LNET FLOSSIAULD" 6T6TLIMS 618 GMI&ERMS! ?

A The State can discriminate based on gender and caste.
Umedleorid MM FTH) Sj1gLiLenLulleh SiFa UMTGUT@H STLL6eVTLD
B: Equal remuneration for males and females is guaranteed
S,600T5 @ 8 (G0 G LIGITE: @B &G0 &FLln 26aTH) U 2_SHFH TaITSLID
C: Everyone is treated equally in the eyes of the law without discrimination.
FLLSH 6T LIMFenaluiey oemeral(bd LUMGUMQeTl FLWmms LG5 LL GG eTmTigser
D : Equality applies only to citizens of India.

FGaID QHH W G L0&HHEFHES L (HIGL QUTHHESILD
Which international Convention focuses on the elimination against women and was adopted in 1979 ?
6THS FFeUCHF LOMBT([H CLICTITSHEH &G 6TH TITedT LIMGLTL ML HHHMIH 6L Halard QFSSH M LDMHMID 1979-60
JHMIGQG&TeTeT UL L Gl ?
A: The Vienna Declaration

aflwesreorm LNy LeoTLd
B: The Universal Declaration of Human Rights

eoflg 2_flemingem Lmnilw 2 eusermellw LNyssLeorid
C: The Convention on the Elimination of All Forms of Racial Discrimination

2|60 S 616N 8 LLITET G)60TLILIMGUTL6mL WD SIS MHETE0T 2_L60TLIG 86608
D: The Convention on the Elimination of Discrimination Against Women (CEDAW)

QLICTIT S @55 @ TH T M6 LIMGUIMTLemL ILILISMETET 2_L 6TLI &0

Which of the following describes gender discrimination ?

Wetreumeueoreummlev ergl Limedleor Lim@GUT enL elleufl&Hmai ?

A Women and men being paid the same for the same job
2CT CalmEVE S GlLICTITS EH& G0 2,600T5% @65 @D G LnmH flwimenT 2er&\ wilh aupmISLILGSH S
B: Women having equal opportunities in education and employment
&evall LnMHMID Gauemev aUMUILILN6L QLIETIT& 6T &L eUTUILILI&6T G LMD mIGTeTeuT
C: The unequal division of Labour and social discrimination against women
FgseunmHm 2wl LNflelener LHMILD QLTS EHEHE TH TTeT Fend Ll LITGLUM®
D: The recognition of human dignity irrespective of gender
umedleor GeumiLimiqesrnl neofls & evoreunl 1SS en s o BIS &5 560
According to the POSH Act 2013, after receiving a complaint, the Internal Committee (IC) must solve the sexual harassment case within :

UensUWIL&H 60 Limedwieh Si6TLMISSH6 SHILILE FLLLD 2013-60T LI 2 6T L&TT Gwelev UsTT el g5 Lng Lmedlwey
SISTUMISH6) G (LD BLDE 5 600TL 618G 60607 [HITL& 65 & 6T H6y STevor Geuetor(HILD ?

A: 30days
30 BITL&6T
B: 45 days
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45 BT &6t

C: 90 days

90 [BITL_&6IT
D: 120 days

120 BITL_&6IT

Assertion (A) : Women's theatre in India serves as a spare for resistance and self - expression.
Reason (R) : The plays written by women playwrights often explore themes of identity, oppression and re-interpretation of history and mythology.
Choose the correct answer from the options:

Faml : A @BHS WTeN6L QLIGTS6T BITLGLWD THTLIL LoMHMID &l QeueflLiLmLlIgMH&Ter @LI0mS QF WG mS!.
SITI6UOTLD : R QLI6vor BITLSTRFIWLIFTEETTEL 6T LILIL L [BITL S MBISGET QLIIHLOLITEID S(6mLWITETLD &Tenig56) 62(h & & (D 6mm
LDMHMID GUIFEVTMI LOMMILD LT IT600T 1 &6r1 60T M1 6X6md: &0 2,8 WeumHNI 60T & (5 LIG LIMH6TE: 606 2, 7 TG 65T 60T

A Both A &R are true and R is the correct explanation of A
AMHOID R @reor®Ld &l InMHomild R 6TedTLIGI A& & meor Fiflwimeot elemg &L
B: Both A & R are true, but R is not the correct explanation of A
A MHMILD R @TeuorHLD Fifl 94,60Tmev R 6TeTLISI A-&&MeoT Ffluiment elemg&sln 3j606V
C: Aistrue, but R is false
Famml Fifl 9L60TT6L & ITT6mTLD FHeuml
D: Adis false, but R is true
Fahm FHeum Sryevortd &ifl

What does Staging Resistence primarily aim to highlight ?
Blenev eTH TLILINEL (LS EITEMLOUWITS 6TeM S (LN6Tevlemey LIB\SSleuensd CHITEHSL0TS 68 meuor () eTeng! ?

A Women's contribution to traditional dance forms
urrufluw BL6oT eUlg.eumkigserfley QLesorgserledr LimigserlliL]
B: The creation of identities and a sense of Self - worth among women
QUIGTOT S 6160 LG {60 L WITETLD DM MID & WIDGLIL| 2_600TTemed 2_([H6U T8 & 560
C: The importance of male playwrights in Indian Theatre
QBB W BTL&5S5H 6V 26007 BTL&STRFIITSH 66T 2 6o Temal 2 (HeUTs & 560
D : The technical aspects of stage production
GuenL sWmlliNer Qamblev B L (D& I 6T
What is one of the major criticism of media reporting on crimes against women in India ?

@BH Wmeilel QLIS EH& G 6T H TmeT GmmmbiIgG6r LM QFuIH &eT QaueflullRleudev 26r_gmkigerfler g mer eflnF&Fearin
6T60T60T ?

A It highlights the root causes of crimes effectively
GBS EHESHTET 219 L1160 & ITT600T hI G 6m6T QeuerLILI( &S5 60
B : It often sensationalises incidents instead of addressing deeper issues
Nygd eneamenl SpL0ms eNleTs&eausSm@& LDMMTS LIFUTLILITS 19868619 LDMH M6l S
C: It completely ignores crimes against women
QILIGTOT S €5 &G 6THTIT6UT G MMEIGHEmeTLl LI (LDLDemLDWITE: Ljm &8s euofl LS
D : Itonly reports on women's achievements
QUIctOT S 61607 MG enaTgGemen L B Qeueflul® eugi

‘What recommendation did the National Commission for women make regarding media portrayal of women ?
261G MHIGET QLIeTSHmeT A GS5LILG QSTLILUTS CHA W n&eflf oyemevorwiid eupmi@wlerer LflbSienT ereireor 2

A Banning all TV serials portraying women
QUGS EMETLI LIMmMI L S16M60TH S QS MeneVHETLF QSTLTH6TW D 6L Q&FUIaIS
B : Encouraging more sensational news about women
QUETET&HET LIHMIW LIgUTLILIMeT QF WH &6T Qeueflul(heleng 2arg:@aillliLigl
C: Amending the Indecent Representation of Women (Prohibition) Act 1986
QUIETITH M6 HBTHIHITS ASHSHILMS SO HGD FLLEMS (1986) HBSSD QFUlalg
D: Promoting only positive images of women
Quetorasefletr GBILemMWITeT LHLILTHEemeT LG QeuefluilL 2ardEealld s 60
What is the following approach to addressing gender representation in media emphasize ?

B LD 556007 L0 6U S 6rfl6L 6TIH S sl @(emm 26rL_shigerflev Limedler TG BISSasious s euedlwmssRms ?

A: A media - centric focus on production & content

26a1_G-emowl WML IHmILD 2 6TerL_&&LD
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The right to communicate as part of democracy & citizen participation

QETHITILIGLD DMMILD GL90&&H6T LIBICHMHL| 6TeTLIS QSTLTL| Q& meTemey / QeueflliL@ S sIsev 2 flemlouler e
IMBIGLOMEGLD

Restricting media content to maintain traditional gender roles

umyuflwimnmer Lmeder LiIkiGaeneT Q&TLIHS BleneulILGSSIaSNEHTEH QF LIS &6 er QUIMTIHET 2 _6T6TL 556005
LEGUUG S SIS

Encouraging media to ignore gender issues for neutrality

BH\Be06VE HETenlnenl CLISIOIS D& TS LimedlerLl LNJE&enerd:emneT L|m& & euof1L1LIg

In 1985 which place women's Media group protest against trivialising women's images in the Media ?
1985-60 QILIGHOTG 606 LIMNY SIFF DTS SUMTEHe|D ASSFILILMS THTH S O LIGTITSH6T LDMMILD 26TL_5 & (LDEUTETS 6TMBIG
GUTIILLLD BLGH 60T ?

A:

Bombay
LM
Calcutta
&HVHSST
Chennai

Q & 60T6m 60T
Delhi
QL6ved

In which publication did the group contribute to a special issue on women & Media ?
QUIGTOTS&HET LM MILD 261G MhIG6T GMISS MLl Qeauefluf® &w eThs Qeusflufi gy LitiseflG s 2

A:

Economics & Political weekly

eTgmeoTmLI & MM QLImeSg &b 6fg 60
The Hindu

& @bgl

Times of India

L LD6N @&l @ HSIWIT

Counter Media

TR 261L_&1D

What is the primary theme of the plays discussed in staging Resistence ?
Blenev eTH LI eleum &G LILIL L BITL G MHIG 66T (L& ETemLD &([HLIG LITIH6T 6Teoreur ?

A:

Comedy & Satire

H6M & & & 606U LOMMILD 60)[HUIT600T L.

‘Women's relationships, struggles & emancipation

QILIGHOT 2_M6Y&6T, LML L MBI&6T MM ell(H Semev
Historical battles and revolutions

QUTeLTMHMILI GUTTSHEBHLD LT F& e

Mythological story telling

LT IT600T8 &H6M& Q&FMeV6IS)

What is the punishment for the first conviction under Indecent Representation of Women Act ?

QUETIT&H6T ABMHIHINMTS FSSFILILNS S QFUIWD FLLSH 6T HLD QLD (LDSH6V &600TL60I60T / | LITTHLD 6TeoT6uT ?

A:

A fine of Rs.500

€5.500 SILITMSLD

Life imprisonment

24, UL| 61T & 600TL_60)60T

No punishment, only a warning

55 600TL_60)60T @)6Leme6L , 6TE&F[flG6mas L (HGLD
Imprisonment upto 2 years and a fine up to Rs.2000/-

2 91,600 (N &H6IT QUEN T Flem MG H600TL6MET LOMMILD eh. 2000 6UEMIT | LITTHLD

Which of the following are the aim of Feminist Research ?

(a) Questions the traditional research Paradigm

(b) Ignoring women's experience

(c) Including Women's Perspectives and experiences

(d) Limits the objectivity of Research.

Choose the correct answer from the options :

B LD 5> 56007 606U 55 6Tl 6V G LI6voT6u0f W 2, U6l 60T G ITEh &5 M1 & 61T 6T60T ) 60T60T 60T ?
a. gy wmet gy uleller Hensalflenul G5eTells &L LM SSal S
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b. QLI600TS5 61Tl 60T 2 60 LIGUMBIGH 6T LM & 856001 1L1LIGI

¢. QLIGTITE 6l 60T LITTemaU&6T DM MILD 3|60 S 66T &) 6060015 &6V
d. U6 &S&TET CBMHESHHMS &L HILILG S SIS 60

G Lp & & 6007 Lemeussarfley Fiflwimen ellemLenwl CHIHO & H & & eLD:

A: (a)and (b) only

S| LDMHMILD &, L (IO
B: (a)and (c) only

9 LnMHMILD @) LI
C: (b)and (d) only

S, LDHMILD FF L GID
D: (d)and (a) only

FF LOMHMID & LG
In which of the following are Qualitative Techniques of Data Collection
(a) Focus Group Interviews
(b) Questionnaire
(c) In - depth Interviews

(d) Interview Schedule
Choose the correct answer from the options :

B LD 5> 56007 606U 6rfl6V 6Tem 6l &T/L1600TL] 1 L1LIE L UN6UITEOT 2,16 & & TeT S&H6uev CF &1L BIL LILD?
2. @BEIHMETHSLILULL G ellemsLd

b. G&eTallL Lilgeulh

c. GBI & IT6UOT6L

d. GBI & MeuoT6V LILG.6ILD

GLp& e aumnilev Fflwimer aflemLen CHFTHOSHH&&HaLD:

A: (a)and (b) only
S| HYIDS,
B: (a)and(c)only
S, HaD @)
C: (c)and (b) only
@ whoIb
D: (a)and(d) only
S| MO F
Assertion (A) : Feminist stand point epistemology put women at the centre of the Research Process for understanding the Social issues from the perspectives of

Women's Concrete Experiences .
Reason (R) : Feminist research use epistemology as tool for vindicating the misrepresentation and exclusion of women from dominant knowledge domain.

B LD G5 600TL @) T600T(H 6U &G WLIMI G660 60T Fm DM (A) 6TETMILD LOMGMTETMI &ITFEooTLD (R) 6TeoTeyld GMILILILLILIL () 6iTema!
Famml (A): QLIetOTEr0 W BlemeuILIT(H 2imley <, TmIFRUNUIG 6TeTLIS LU16] QF W LNemMUI6y G LIGuTS: 6rfl 60T 61 eiau meoT
9| e LIeumI&6rledl (hib &l @ Lisvoreno W LIMFeneussefledpbg Fenssll LFFaensrs:ener L& Q& meTeusm @& 6\LIesordsemern
MOWSHEL eUSEROTMSI

&ITeuoTLD (R): QLIevoTeuof W Blemeul1Lm(k 2infle] @,rmiid&uiwey CLueumH&Es onle sienmulledmh s

e Eess LG SSLILLTS WHMILD LjMEs8 6088 LILL L G\LI6uorsserfledr 58 & 8 meor/B] U ML LI () S & 89l 8 85 6ot

SN WIM@SLD.

A': Both (A) and (R) are correct, but R is not correct explanation of (A)

A WMHoID R @ueor@G b Fifl nHmIb R A-&@& Fiflwimer efem&&InM&LID
B: Both (A) and (R) are correct, but (R) is correct explanation of (A)

AMHOILD R @ reor® LD Fifl Q160760 A-8& Fifliment eNl6md&Lne6v6v
C: Both (A) and (R) are correct

A &1fl 9160760 R Saum)
D: (A)is correct but (R) is not correct

A SN L6076V R &if]
Feminist standpoint epistemology emphasizes .

QuevoTeoofl L Blemeu1Lm@H infle] @LTmgFRulwey eTemng el mSHHMmSI?

A Mixed methodology
R6TMIHGLD CLMUL L aufl(DemmM &6 608 WLIT6T6 S
B: Fusion of Knowledge and Practice
e MHMID QFWDHUTL 6L E)6mevorLiLISI
C: Theory Building only
GHMLLMTH &HEM6T G605 SH60
D : Call for Political Action

B STT-TRW LTHDSHDHES enmeneush ellGLLIS
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Match the following :

List - 1 List -1
(Techniques of Data (Methods)
collection)

(a) | Participant (1) | Quantitative
Observation

(b) | In- depth Interviews (Il) | Qualitative

(c) | Questionnaire () | Ethnography

(d) | Content Analysis (IV) | Feminist Research

Choose the correct answers from the options:

SpaaerLeunenm CUmmSSIs.
uligwiev I uligwev II
s&6us) CasfliysesreT HILUmISeT (P EOMEET
(@) uRGsmHULET Falgw 2.HM) (i) arernTeTT B En s igUIUemLUTIeo e )
CrrsH6)/Faf CHTEHSH
(b)  suwwmer CoifemerTsy (ii) &17/U6STLS6T SigUuenLuflsumers)
(c) Gmsraill Lgeuld (i) @ersusnresiued
(d) QummenLée Smearmiey (iv) Querremflw guuiey

gpasarLaunriley Fflurer aflenLenw G5 T HC S [H\E S Lb:

A: a-IV,b-1Ill,c-1I,d-1
a-iv, b-iii, c-ii, d-i
B: a-MNLb-1V,c-Ld-1II
a-iii, b-iv, c-1i, d-ii
C: b-La-IV,c-1I,d-1I
b-i, a-iv, c-iii, d-ii
D: a-1V,d-1,c-Ld-1I
a-iv, d-ii, c-i, d-iii
Arrange sequential manner for steps involved in research reports writing :
(a) Logical analysis of subject matter
(b) Preparation of the rough draft
(c) Preparation of final outline
(d) Rewriting and polishing.
Choose the correct answer from the options.
ile] NG SWMflgEedev &meoT LGS 6T LG BleneudseneT auflenaiLI(Bh &S,
a. STSHSFH WITET QLIMIBETL &8 H el
b. QL ITUFR )& &UN6T GG MTITWLILDITET QIEMT6)]
c. oG suleT mIF allgeaGams WS s560
d. I86OT(HILD 6T G 6L LM MILD QLD ([HFnL L6V
FELps s eorLeumnilev Eiflwimer ellemLenl CHIHASH &&HaLD:

A: c,ab,d
8.3, IF
B: a,cb,d
34,9 ,@),F
C: ¢,b,a,d
Q). 24,91, 1F
D: b,c,a,d
25,89 T

‘What does coding in data preparation refer to ?

sre sl LT @ weanp g s GMl&ESEDE?

A: Organising data into tables

SI606U 3L L6U6M600TSH 6T TS 62 (LIS EMLOE G560
B: Assigning numerals or symbols to responses

LSS EHE G 6TetoTdH6T Hevevdl GMIUIbH &HemeT @ &18 & 560
C: Creating geographical representations

e IHen6v L TH BB S S161 61856016 2_(H6UTH G H6V

D: Sorting data into groups
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SIM6l & WEHHTTS alflenFLILM 5SS 60

‘What are the primary objectives of editing in the data preparation process ?
(a) Correcting errors & Omissions

(b) Ensuring data is consistent with other facets gathered

(c) Making data easier for statistical analysis

(d) Writing new responses where the original is unclear.

Choose the answer from the following :

576 SWTHILIL QF WML 960 HBSSS5H 60T (N&R W CBITEH LD 6T60T60r?

a. LNemp&seT Inmmih e\ L6V S&HeneT &) (hHS S5 60

b. G5 1&&LILLL LM 2_600Ten NS EhL6T 6 R5S5ICLITaIMS 2 MIF) QF IS0
¢. Yemeflufwiev UG LILMle & STenel ererfls e @& 560

d. 9|56V QB aflauns @eveuns @)L Mhig6 el LIS W LG 65606 6T(LD SIS 60

A: a,b,&conly

Sl LHYID @ LG
B: a, b, &donly

3|, 3, LMHMID F L GID
C: b,c&donly

<, @) OO F LD
D: a,c&donly

S1.@). M oid FF L GID

Feminist Research goals .
QLI6voTeu WL 2y U160 60T GBI &I &6 eTemal ?

A Exploring Social Realities
FoNG THMISSHS5MS G 6686 & Teuor 560
B: Evolving New Theories
LS ST LIMH S 606T 2_(1H6UTEH G H6V
C: Foster Empowerment and Emancipation of Women
QuUetor& 66T B STTLG S SIS InHmID (B Semevenl aUeTiSESH LILIS
D: Recommending Policy for Social Change
FoNG LDTHMSH DS TET QS TaTenHHemeT LIl H&en LS

Triangulation refers to .
QLT TUFRNLITE (&GS T (LLEMM 6T6T LIS 6160 S & &M1& eTmSI?

A Verifying facts

2_E0OTeM LN & 606 &FIfl LIMTT&S 560
B: Cross - Checking of variable

rled&Eener GmIsE CFME e Q&FI%56
C: Use of two methods to get a singular data set

20 GULULL 5705 Q5TEUIDHE QIetr( enD&meTL LWaTLGSSiaug!
D : Tool for Qualitative analysis

&1J/L1600T L 86T 2)1q LiLiem L ufeurmeor 2uUl6] Smmeormlief & meor & el Mm@
Feminist Research is primarily connected with

QUeTETEu W 916y LTS TETLONS 6THeDIL 60T QG TLILMLWSTSH @ BHHRMSI ?

A Research on Gender Issues
umedlerr LNg&genenserfler g oLU16] GLOMG &TeTeU Sl
B: Documenting the Women's Lives and Experiences
QUIM(HETE 66T GUTLDE6M8 LOMHMILD |0 LIGIMHISHE0)6T 2616007 1L (D) &1 56V
C: Studying about Family Conflicts
&@LU F&FFTe|HmeTL LUMmMIL LI LISl
D : Exploring different perspectives on Girl Child

QLIETIT GLRHenSHemaTL Limnlul LIsuGeumi LIMFen6U8 66T Glauerld & mesor 560




